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Note: All questions are compulsory. Marks are indicateq against each question in squaré:brackets,

s

QI. Answer the following questions:

4) An operating system has several components, Which compoﬁ"é . at

between hardware and all applications?

output of the command you will use? ' » [2 Marks]
¢} Suppose you are working in ‘Desktop’ directory. How will'you create a text file in the

‘Documents’ directory without moving oy;;ib-fffhéé’*_peéi{top’ directory?  [2 Marks]

Q2. Answer the following questions:

a) Homology modelling of prote'i:;f} Str

; res;?%‘normally proceeds along a series of distinct
steps. Explain various steps ifvo]

in copying the 3D coordinates from the template.

. {2 Marks]

b} Structure prediction 8. generally include energy minimization and model
optimization step ] you validate the final model? [2 Marks])
¢) What is the impoftande.ofa fhermodynamically stable state? [1 Mark]

Q3. There agg;dit:fgi nt
the most relaiﬁ%!%‘

k-

ithods for tertiary structure prediction of protein. List criteria to choose

{5

fiese methods? [3 Marks]

Q4.ﬁ Aﬁgnghe l%\ﬂd@ing two sequences X and Y using FASTA method: X= PTNCDQ, Y =
TNCRE \ [4 Marks]

Qs. For‘zﬁy two nucleotide sequences of similar length (I=10) which method will be appropriate
to measure the distance? If 2 characters deleted from the first sequence, then what method wil|
be applicable? Prove your answer with an example set of sequences for both the cases. Scoring
system can be taken arbitrarily. [4 Marks]

Q6. If "Pair-wise alignment whispers, MSA shouts out loud". Can you prove this statement with
a profile (PSSM) and consensus sequence generation. [4 Marks]



